JEA oy P D ) 1= H 1 e NE LG

IR WG 17 k5 fﬂﬂl*’)ﬂ%r BT L 2 Hh W%Axﬁrﬁ%rli ﬁﬁﬁ%l*ﬁ% /\Emﬁ%ﬁ /\Emﬁ%ﬁ /\Emﬁ%ﬁ W%AETFHB;I W%AETEEE Fim%i‘rjjiﬁﬂ Fﬁﬁ%?&ﬁﬁﬂ Fﬁﬁ%il;ﬁ?f? &*Eﬂ:ﬁﬂ? (ﬂPf%AETJI:BE Mﬂf%ixmﬁﬁi T HHE 3 3 W%AEJI:@K EHEE N A . ‘ﬂ'étm%@
iy 2 k% = AT TNHIE | Tk DHE 9 PG P 5 P P i TR T T T T T TR TR 3 JHH) e AT TNHE | AT THHEE | 2T TNIE | 1K HHIE
i 172 211 154 393 0 0 0 5 126 120 0 0 0 10 8 358 15 177 0 0 163
N4 78 114 77 114 0 0 0 35 114 114 0 0 0 42 35 114 113 114 0 0 114
IR K E 14 18 14 18 0 0 0 0 18 18 0 0 0 9 6 18 9 18 0 0 18
() HEBE 0 0 0 0 0 0 0 0 2,291 1, 750 0 0 0 0 0 2,172 0 0 0 0 0
2 3 2 3 2 3 3 3 0 0 0 0 9 *3 T 3 0 0 0 1 *3 0 9 *3 1 #2,3 2 3 0 0 2 x3
#E 266 *3 345 3 247 %3 529 3 0 0 0 40 2,558 *3 2,009 *3 0 0 0 62 *3 48 2,671 *3 138 2.3 312 %3 0 0 297 %3
468 557 442 809 0 0 0 55 179 223 0 0 0 83 71 371 94 500 0 0 477
B 98 145 98 145 0 0 0 44 39 62 0 0 0 53 44 38 144 145 0 0 145
) 33 43 34 43 0 0 0 0 43 43 0 0 0 21 13 43 21 43 0 0 43
0 0 0 0 0 0 0 0 313 496 0 0 0 0 0 270 0 0 0 0 0
599 744 573 996 0 0 0 99 574 824 0 0 0 156 129 722 259 687 0 0 664
Yl 2 1 2 1 1 # 4 %1 0 0 0 0 1 1 * 1 # 0 0 0 0 1 0 1 4 1 0 1 2 1 0 0 1 1
b E 1 %1 2 %l 1 %1 2 #l 0 0 0 0 =l 2 xl 2 xl 0 0 0 1 %1 1 %1 2 xl 1 %1 2 xl 0 0 2 %l
T T 0 0 0 0 0 0 0 0 785 *1 479 #1 0 0 0 0 0 802 #1 0 0 0 0 0
(N) iU kK 0 #3 0 #3 0 *3 0 *3 0 0 0 0 0 *3 0 3 0 0 0 0 3 0 0 *3 0 3 0 3 0 0 0 3
7oy 7 0 =3 0 =3 0 =3 0 =3 0 0 0 0 *3 0 #3 0 #3 0 0 0 0 *3 0 #3 0 *3 0 *3 0 *3 0 0 0 =3
it 3 %l 4 % 3 %l 6 *1 0 0 0 0 =3 787 x1 482 1 0 0 0 1 %1 1 %1 807 *1 1 %1 3 xl 0 0 3 xl
EYlEE 113 1 136 1 105 1 213 #1 0 0 0 10 1 54 x1 61 x1 0 0 0 16 1 14 1 129 *1 19 1 120 *1 0 0 113 =1
b E 2 %l 2 %l 2 %l 2 xl 0 0 0 0 =l 2 xl 2 xl 0 0 0 1 %1 1 %l 2 xl 1 %1 2 xl 0 0 2 1
ABF HEBE 0 0 0 0 0 0 0 0 6,898 *1 6,295 1 0 0 0 0 0 6,913 1 0 0 0 0 0
(N) HRK I 0 #3 0 3 0 3 1 %3 0 0 0 0 2 # 2 % 0 0 0 0 #3 0 2 # 0 *3 0 *3 0 0 0 3
7oy 7 4 =3 5 3 3 #3 8 x3 0 0 0 1 #3 5 %3 5 #3 0 0 0 1 #3 1 3 8 3 2 %3 6 *3 0 0 5 3
it 115+l 138 *1 107 1 215 #1 0 0 0 10 I 6,954 *1 6,358 *1 0 0 0 17 #1 15 #1 7,044 *1 20 *1 122 %1 0 0 115 =1
Yl 17 1 21 1 15 1 39 1 0 0 0 0 1 13 %1 12 1 0 0 0 1 # 1 * 36 1 1 * 18 1 0 0 16 1
PNIDE: &= b EE 1 %1 1 %1 1 %1 1 %l 0 0 0 0 =l 1 %1 1 %1 0 0 0 0 =l 0 =l 1 %1 0 =l 1 %1 0 0 1 =l
REFE | 0 0 0 0 0 0 0 0 2,348 *1 2,143 *1 0 0 0 0 0 2,356 *1 0 0 0 0 0
(N) HERKH 0 #3 0 *3 0 *3 0 *3 0 0 0 0 1 0 *3 0 0 0 0 *3 0 1 0 #3 0 #3 0 0 0 3
7oy 7 1 =3 2 *3 1 =3 3 3 0 0 0 0 *3 2 #3 2 #3 0 0 0 1 #3 0 #3 3 %3 1 3 2 #3 0 0 2 %3
arat 18 #1 22 xl 16 *1 40 x1 0 0 0 1 =3 2,361 *1 2,156 *1 0 0 0 P 1 #3 2,392 *1 2 3 19 *1 0 0 17 #1
EYEE 96 1 115 #1 90 1 174 *1 0 0 0 10 1 41 1 49 1 0 0 0 15 1 13 %1 93 x1 18 1 102 1 0 0 97 x1
b gE 1 %1 1 %1 1 %1 1 %l 0 0 0 0 =l 1 %l 1 %1 0 0 0 0 =l 0 =l 1 %l 0 =l 1 %1 0 0 1 =l
WA F R 0 0 0 0 0 0 0 0 4,550 *1 4,152 *1 0 0 0 0 0 4,558 *1 0 0 0 0 0
(N) HERK S 0 *3 0 *3 0 *3 1 #3 0 0 0 0 2 % 1 =3 0 0 0 0 *3 0 2 # 0 #3 0 #3 0 0 0 3
7oy 7 2 x3 3 #3 2 x3 5 x3 0 0 0 1 #3 3 %3 3 %3 0 0 0 1 #3 1 3 5 %3 1 3 3 %3 0 0 3 %3
Gt 97 *1 116 *1 91 *1 175 *1 0 0 0 10 I 4,593 *1 4,201 *1 0 0 0 16 *1 13 #1 4,652 *1 18 %1 103 =1 0 0 98 xl
FRBhF B (MR 59 *1 73 x1 53 *1 136 *1 0 0 0 2 *1 42 *1 40 *1 0 0 0 4 *1 3 *l 118 *1 5 *1 61 *1 0 0 56 *1
N HEBE 0 0 0 0 0 0 0 0 396 *1 553 #1 0 0 0 0 0 379 %1 0 0 0 0 0
HBICPE S EHRFR (N 0 0 0 0 0 0 0 0 7,683 *l 6,774 *1 0 0 0 0 0 7,715 *1 0 0 0 0 0
% 12, 848 16, 679 11,305 18, 204 0 0 0 409 17, 163 16, 821 0 0 0 1, 246 800 18, 334 2,603 17,237 0 0 17, 069
Lok Wik AR 1TH% 12, 235 16, 363 10, 580 18,073 0 0 0 372 16, 945 16, 558 0 0 0 1,116 725 18, 251 2, 324 16, 958 0 0 16, 790
. (N) LI 1% 8,739 13,778 6,712 16, 995 0 0 0 130 15, 296 14, 640 0 0 0 446 279 17, 542 1,041 14, 522 0 0 14, 299
1y Atk 1,599 3, 663 762 8,014 0 0 0 0 9,261 7,809 0 0 0 0 0 11,784 37 3,961 0 0 3, 868
% 721 752 733 856 0 0 0 495 1,196 1,073 0 0 0 590 554 1,175 590 752 0 0 752
T XEEAR 1A% 609 635 618 722 0 0 0 419 1,124 993 0 0 0 498 469 1,101 498 635 0 0 635
(N) LI % 220 230 224 260 0 0 0 151 876 717 0 0 0 180 168 843 180 230 0 0 230
1y Atk 6 6 6 6 0 0 0 4 739 566 0 0 0 4 4 701 4 6 0 0 6
[EA 2, 262 3, 639 2, 664 4,706 0 0 0 0 16, 161 13,551 0 0 0 0 0 16, 256 0 3,419 0 0 3,316
TATTA ey LH#% 177 279 203 355 0 0 0 0 10, 500 8, 047 0 0 0 0 0 10, 099 0 253 0 0 253
eE = L[ #% 0 0 0 0 0 0 0 0 9,907 7,545 0 0 0 0 0 9,438 0 0 0 0 0
1y Atk 0 0 0 0 0 0 0 0 9,735 7, 438 0 0 0 0 0 9,229 0 0 0 0 0
e 521 834 614 1,089 0 0 0 0 4, 492 3,925 0 0 0 0 0 4, 468 0 787 0 0 758
i AEERHE 1 H % 481 770 562 1,002 0 0 0 0 4,314 3,749 0 0 0 0 0 4, 281 0 724 0 0 701
([E1%3) L[ 69 116 81 151 0 0 0 0 2,534 2,002 0 0 0 0 0 2,429 0 104 0 0 104
1y Atk 35 58 41 75 0 0 0 0 2,378 1,851 0 0 0 0 0 2,271 0 52 0 0 52
B 29 3 32 15 # 73 %3 0 0 0 3 111 55 3 0 0 0 111 3 111 7 42,3 26 *3 0 0 27 %3
it A 2 XhEF% 104 28 *3 32 3 14 72 *3 0 0 0 3 110 *3 55 3 0 0 0 110 *1,3 3 110 *3 7 42,3 25 %3 0 0 26 %3
(F) L[ 25 3 29 #3 14 68 3 0 0 0 3 106 *3 52 *3 0 0 0 102 *1 3 106 3 7 %23 18 3 0 0 19 =3
1y A% 15 *3 20 *3 14 *3 51 *3 0 0 0 3 91 3 52 *3 0 0 0 74 %1 3 89 3 7 %2,3 17 #3 0 0 17 #3
W Lé% ’_(Fﬁ) 12 13 12 13 0 0 0 6 14 13 0 0 0 9 7 14 9 13 0 0 13
i Lé%bmf:% (&) 3 3 3 3 2 2 2 2 3 3 2 2 2 2 2 3 2 3 2 2 3
T - g () 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
i s (65 T) 0 0 0 1 0 0 0 0 1 1 0 0 0 0 0 2 0 1 0 0 0
fp () L8H 0 0 0 3,800 *3 0 0 0 0 40,017 =3 25, 137 3 0 0 0 0 0 42,649 *3 0 108 =3 0 0 443 3
4~TH 11,669 *3 18,886 3 8,527 *3 23, 292 0 0 0 0 77,575 70, 106 0 0 0 569 3 495 3 81, 527 1, 580 18, 599 0 0 18, 220
ETERERE SRR (BN E R okhk (1) [L3H 63, 641 89, 616 51,823 109, 118 0 0 0 0 101, 379 95, 936 0 0 0 3, 741 0 111,052 5, 445 98, 747 0 0 97,710
T A~TH 123, 167 181,124 99, 906 211,023 0 0 0 0 193, 447 187, 068 0 0 0 8, 200 1,591 215,112 17, 627 189, 547 0 0 187, 037
EAi (B0 562 *3 744 *3 544 3 1,090 #3 0 0 0 69 13,148 =2.3] 12,031 =3 0 0 0 144 111 3 13,409 #3 252 686 *3 0 0 662
[ S LB A 2 3 2 4 0 0 0 0 21 16 0 0 0 0 0 22 1 3 0 0 2
REpERp@E (00 I HE R 7 0 0 0 0 0 0 0 0 31 29 0 0 0 0 0 31 0 0 0 0 0
— 1H% 297 378 280 546 0 0 0 47 6,576 6, 025 0 0 0 73 59 6, 704 131 345 0 0 331
00 LI % 1,263 1,904 1,015 2,383 0 0 0 54 4,538 4,042 0 0 0 113 82 4,917 249 1, 968 0 0 1,933
B 1y Atk 550 1,102 332 2,237 0 0 0 23 2,849 2, 449 0 0 0 36 29 3, 420 81 1,162 0 0 1,133
: — LH#% 198 252 186 364 0 0 0 31 3,310 3,038 0 0 0 48 39 3, 392 87 230 0 0 221
(’j\') L % 1,263 1,904 1,015 2,383 0 0 0 54 1,318 1,320 0 0 0 113 82 1,522 234 1, 968 0 0 1,933
1y Atk 1,283 2,570 774 5,219 0 0 0 54 6, 648 5,714 0 0 0 85 69 7,981 188 2,712 0 0 2,645
1H#% 19 24 18 34 0 0 0 3 415 380 0 0 0 5 4 423 8 22 0 0 21
SEREREFE (N A% 80 120 64 150 0 0 0 3 286 255 0 0 0 7 5 310 16 124 0 0 122
1y Atk 35 69 21 141 0 0 0 1 180 154 0 0 0 2 2 216 5 73 0 0 71
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